
 

 



 



 



 

Катушка без сердечника С ферромагнитным сердечником 

𝝂 =           Гц       𝝂 =            Гц        
𝑰, мА 𝑼, мВ 𝒁, Ом 𝑳, Гн 𝑼, мВ 𝒁, Ом 𝑳, Гн 

1,0       

1,2       

1,4       

1,6       

1,8       

2,0       

2,2       

2,4       

2,6       

3,0       

3,2       

3,4       

3,6       

3,8       

4,0       

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 


